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I. (a) Explain the provisions of section 32 of companies Act 2013 with regard 1o
the utilization of securities premium. {5)

(b} X Ltd. issued for public subscription 50,000 equity shares of Rs, 10 each

at o premium of Rs. 2 per share, payable a5 under. (10)
On application Rs. 3 per share

On allotment Rs. § per share including the premium
On first eall _Rs. 2 per share

On second call _ Rs. 2 per share

Applications were received for 70,000 equity shares. The shares were aflotted
pro-rata to the applicants of 60,000 shares, the applications for remaining
shares were being refumm}r averpaid on application was used on
account of sum due an allotment. Prerna 1o whom 500 shares were allotted;
failed to pay the allotment money and on his subsequent failure to pay the
icst call. his shares were forfeited after the first call. Ranjita to whom §00
shares were allotted, failed to pay the two calls. These shares were,
subsequently forfeited after the Final call wis made. Of the shares forfeited,
1000 shares were sold 10 Anaksha credited as fully paid at Rs. 9 per share,
all of Ranjita’s forfeited shares being included. Pass journal entrics in fhe
haoks of the company to record the above transactions.

OR

The following balances were extracted from the books of B Ltd: on April

2019, (15)
10% Debentures Rs. 40,00,000

Sinking Fund Rs. 33,28,000
Sinking Fund Investments Rs. 33,28,000
(Represented by 8% Govt. Loan of Rs. 34,00,000)

Premium on redemption of debenturcs Rs. 2.00,000
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Annuoal contribution to sinking fund was Rs. 4,00,000 at a premium of 5% on 31

March 2020. The company had the right 1o purchase its own debentures from
market. On 1" January 2020 the company purchased its own 500, 10% debentures

of Rs. 100 each at Rs. 98 cum interest for immediate cancellation. The remaining

debentures were redeemed on 317 March 2020, Interest on debentures and

* interest on Govt, loan were payable on 31 March each year. The investments

were sold on 31" March at a profit of Rs. 1,000 on cost. Prepare the ledger

accounts of [(®% debentures, Sinking Fund, Sinking Fund Investments and Premium

debentures and for redemption

on redemption of debenfures assuming company had enough cash to buy its own

2. The following are the balances of M/s, Traditional Dress Bhandar Ltd, As on

31.03.2020: (15)
| Debit Balances Rs. Credit Balances Rs.
| Premises 30,72,000 | Share Capital 40,00,000
Piant 33,00,000 | 12 % Debentures 30,00,000
Stock 750,000 Surplus A/c 2.62,500
Debtars B, 70,000 | Bills Payable 3,706,000
Goodwill 2.50,000 Creditors 4.00,000
| Bank 4 06,500 Sales 41,50,000
Call in Arrear 75,000 Creneral Reserve 250,000
Interim Dividend Bad Debts Provision on
Paxd 3,92.500 |-4-2019 35,000
Purchases 18.50,000
Preliminary Exps. 50,000
Wages 8 79 800
General Expenses 68,350
Salaries 2,02.250
Bad Debts 21,100
Debenture Interest Paid 1,850,000
1,24,67.500
1,24.67,500
FT.0.

ot
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Additional Information :

(#) Stock on 31-3-2020 was Rs. 9.50.000:

(b} Depreciate Plant by 15%.

(e} Write off Rs. 5,000 from preliminary expenses.
(d) Interest on debentures is for 6 months. I

(e} Create 3% provision for doubtful debis.

(fi Provide for income tax (@ 3%,

{g) Ignore Corporate dividend tax.

Prepare final accounts of the company.

OR
The following is the Trail Balance of R.S. Ltd as on 3" March 2017 :
T (Dr.) T(Cr)

Stock of finished goods (1-4-2016) 1,20,000
Purchases of raw materials 41 ,00.000
Sales 58.40,000
Sales returns and Raw Materials Returns 24 000 30,000
Manufacturing expenses 530,000 _
2% Bank loan (Long - term) 2,00,000
Salanies 4,49 000
Directors’ remuneration 50,000
Building (cost) 5,00.000
Plant and Machinery (Cost) 15.00,000
Provision for depreciation

O Huilding L B0,000

On Plant and machinery 1.9'5 00
Trade debtors 5 060,000
Trde creditors 160,000y
Advances Tax 35,000
Auditor’s fees for audit 60,000
Interim dividend paid 50,000
Corporate dividend wx on interim dividend @ 20% 10,000
Balance / Surplus in statement of Profit and Loss (as at 1-4-2016) 368,500
Preliminary expenses 4,000
Cash at Bank 55,500
Bad dehts 21,000
Provision for doubteful debts 40,000
Equity share capital (Fully paid shares of 10 each) 10,00,000

R0,08,500 | 80,08,500

PR—
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Additional Information :
(i} Stock of finished goods on 31-3-2017 was 72,00.000.
(i1} Depreciate building 5% on cost and plant and machinery 10% on cost.
(i} Make provision for tax at 40%.,
{iv) Provision for doubtful debts is to be created at 2% on debtors.

(v) A machine purchased for ¥50,000 was wrongly debited 1o purchases

account.
{vi) Bank loan was raised on 1" October, 2016,
{vii) Write off preliminary expenses.

{vill) The Board of Directors recommended a dividend & 15% on pad up
capital (excluding interim dividend).

(ix) Assume corporate dividend tax {including surcharge and education cess)
20% of dividend .

(%) There was neither opening stock of raw materials nor closing stock of
ruw materials,

{xi) Directors remuneration includes 25,000 for those directors who attend
only Board meetings and are not under a contract of service with the
company.

(xii) Authorised capital consists of 1.20,000 equity shares of T10 each.
(xui) Manufacturing expenses include wages ¥2,00.000,
(xiv) Transfer 7.3% of the net profit to general reserve.

Prepare statement of Profit and Loss for the year ended 31 March, 2017 and

the Balance Sheet as at that date. [15)

PT.0.
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From the fellowing Balance Sheet of Kirat Lid,

£

+ prepare Cash Flow Statement:

Particulars Note | 31 Ji=
No. | March March,
2023 (Rs) | 2022 (Ry) i
LEQUITY AND LIABILITIES
I. Shareholders’ Funds
) Share capital 1 5,00.000 500,000
b} Reserves and Surplus z 345,000 170,000
1. Non-Current Linbilities
Long-term Bormowings | 14% Debentures) 1,530,000 100,000
3. Current Linbilities
a) Short term Botrowin Bank Overdraft) 25,000 30,000
b) Trade Pavables {Creditor) 75,000 20,000
€] Other current Liabilitiag 3 15,000 —
d) Short-tern provisions {current 1ax) 20,000 10,000
Total 130,000 §30.000
IL. ASSETS
I. Non-Corrent Assets
| &) PPE 4 6,20,000 | 5 10,000
b) Nog-current Investmenis B0.000 3000
¢) Other Non-current assets 5 400 4500
2. Curreni Assets
4} Inventories 1,855,000 [ 90000
b} Trade Receivables 6 60,000 | 30,000
€} Cash and Cash Equivalents 180,000 60,000
d) Other Current assets 7 4,600 5,500
Total L0000 | 830000
Notes to Accounts
Particulars L
March
1023 (Rs)
1. Share capital
Equity share capital £,00,000
Preference capital
Toal 200,000
L Reserves and Surplus
General reserve 70,000
Surplus in Statement of profit and foss 275000
Todal ],ﬂ,ﬂ]
3. Other Current linbilities
Unpaid Dividend 10,000
| Outstanding Interest on Debentures 5,000
LS00




i. PPE
Machinery 810,000 |  &,60.000
Less: Accumulsted depreciation (1,90,000) | (1,50,000)

Total S20000 | SUI0000

3. Other Non- Current Asseis
Diiscount on issue of Debentures 400

Underwriting Commission 4,500
Toul 400 4,500
6. Trade Receivahles
Debtors 75,000 40,000
 Less Provision for doubtful debts {15, 0041) {10,000)
Total 00001 30000
1. Other Current Assets
Discount on issue of Debentures 100 —
_ Linderwmiting Commission 4,500 5,500
E # Total 46001 5500

Additional Informarion -

(1} A machine costing Rs. 70,000 (Book Value Rs. 40,000) was disposed off
ata [ossof 37.5%:

(i} An interim dividend @ 11.25% was paid on equity shares, Final dividend for
the year ended 31 March, 2022, Rs. 60,000 was deglared during the year
ended 31" March, 2023. New shares and debentures were issued an 31
March, 2023, The debentures were issued at o discount of Rs. 500,

(i) Tax provided during the vear was Rs, 15000,

(iv) On 31-3-2023, some investments wers purchased and some investments

were sold for Rs. 50,000 at a profit of 25% on cost.
(v} Preference shares were redeemed on 1-4-2022 at a premium of 5%,

{v1) Treat bank overdraft as a component of cash and cash equivalents as it
forms an integral part of the entity’s cash mansgement. (10}

OR

PT.O.
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{a) From the following relevant extracts of the balance sheets of Aashna Ltd. .o
calculate cash flow from financing activities o he disclosed in the cash flow
statement as per AS-3 issued by ICAL

Particulars JLO3.2023 | 3032022
Rs. Rs |
| Equity share capital (Shares of Rs_10 cach) _ 10,55,000 | §,00,000
5% Preference share capital (Shares of Rs 100 each) 200,000 4.00,000
General reserve 140000 | 440,000
Profit and loss Al 642000 | (13 000)
Securities premium 52,500 20,0040
| Capital redemption reserve e~ 1 150000
Non-current liabilities ( 12% o debentures) ___ 275000 1,50,000
Current linbilities:
Outstanding Interest an debentures 10,000 =
ing Uinderwriting commission 5,000 -
| Unclaimed Dividend on equity shares 20,000 -
Non—current assets {Maching) 30,000 -

Additional information -

(i} On 1% April, 2022, dividends {including an equity dividend (@35%)
were paid.

(i) On 1% May, 2022, 20,000 equity shares of Rs. 10 each were issued
to public @ Rs. |5 to redeem preference shares at 5% premium,

(i) On 19 Oet., 2022, 1000 pref. shares of Rs. 100 each were issued to
public @ 150 to buy back 15000 equity shares @& Rs. 15, On the
same date, 50% of debenture were redeemed at 10% premium by
converting into equity shares of Rs. 10 each (@ Rs, 15 each and some
new debentures of Rs 100 each were issued to public.

(iv) Underwriters were entitled to commission on ai] public issues of
securities at maximum rate as per the companies Act, 2013.
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(v} On 31* Mar.,, 2023, a Machine costing Rs. 30,000 was purchased by
issue of equity shares of Rs. 10 each at a premium of 20%.

(R

(b) Brokerage paid on purchase of shares or debentures of ather companies

by !
(i) a UTT Mutual Fund company

(i) a manufacturing company,

is classified under which kind of activity, while preparing a Cash Flow

siatement” {2)
The balance sheet of B Ltd. as on 31° March, 2023 was as follows :
Particulars Mule Rs.
Mo,
1 | EQUITY AND LIABILITIES
{1} Sharcholders’ funds
{a) Share capital 1 700,000
{h) Reserves and surplus s 190,000
{2} Non-current liabilitics
Long-term bormowings (%% debentures) 1.0, D00
(3) Current liabilities
Trade pavables {trade creditors) 1, 50,004
Total LL40.000
11 | ASSETS
{ 1) Mon=curments assels
Property, plant and Equipment and intangible Assets:
{i} Property, plant and equipment 3 6. 35,000
{31} Intangrble Agsets 4 75, 00K
{2} Curremt Asseis
(2} Inventories (Stock) 20,000
(b} Trade receivables 5 |60, 000
{c} Cash and cash equivalents {cash at bank) 50,000
= Total 1L,40,000 |

PT.0.
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Notes to accounts

Particulars Rs. Rs,

L. | Share capital

50,000 equity shares of Rs. 10 each 5,00, 000

2000 10% preference shares of Rs. 100 each 2,00,000 200,000
2. | Reserves and surplus _

General reserve 120,000

Ewpiuainmeﬂmmtufpmﬁtmdlum 70,000 L0000
3. | Property, plant and equipment

Land and building 3,20,000

Plant and machinery 415,000 £.33.000

Intangible Assets

Goodwill 75000
5. | Trade receivables

Tmade debiors S0, 000

Bills reccivables | 20000 | 1s0000 |

A Ltd. acquired all assers and all Liabilities of B Ltd. For the purpose of absorption,
the assets were valued as follows -

Rs |
Goodwall 1,25,000
Land and building 430,000
Plant and machinery 3,00,000
Siock 2,00,000
Sundry debtors : B0, 000
Bills receivable 65,000

Ome-fourth of purchase consideration was satisfied by the allotment of fully paid
preference shares of Rs. 100 each at par which carried 12% dividend. One-half
of purchase consideration was paid in the form of fully paid equity shares of Rs.
10 each issued at par and the balance was paid in cash. The preference shares
received from A Lud. were g.mm to preferenge shareholders of B Ltd. in exchange
of shares held by them. The cost of liquidation amounting to Rs, 10,000 was paid
by B Lid. out of cash received from A Ltd . Debenture holders of B Ltd, were
discharged by issue of 10% own debentures by A Ltd.
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You are required to :

(i) Prepare Realisation account, Preference shareholders account, A Ltd. account,
Equity shareholders account and Cash at bank account: and

(i) Pass journal entries in the books of A Lid.

OR

(20)

(@) The following is the balance sheet of Cohart Ltd. as at 31¢ March, 2023:

Particulars Rs.
| Share Capital :
| 30,000 equity shares of Rs. 10 each 300000 |
30,000, 13% Pref. shares of Rs 10 ¢ach 3,00,000
= = 600,000
Subscribed, Tssued and Paid-up
20,000 Equity shares of R 10 each fully paid 2.00,000
| 18,000 13%Prnfemdmrunfﬂs 10 fully paid 1 B0, 000
Reserves & Surplus :
Workmen's compensation fund
Pune 20,0t
“Hombay 10,000 | 30,000
Secured loans :
12% ‘A" debentures secured on Pune Property 30,000
12% 'B” debentures secured on Bombay Property 35,004 | 65000

|_Carrent Liabilities & Provisions:

(A}E‘Lmuﬂ Liahilities -

Sundry creditors

25500 |

{B} Provigions -

Fived Assets :
Pune property 1,60,000
Bombay property 1,220,000
Plant amd machinery 150, 00
Investments
1% Government loan exrmarked against Workmen's 30,000

- compensation fund
Mhrel]tmm .r_rpudl-mr: and losses:
Profit and loss Account 40,000

The following scheme of reconstruction was duly approved :
(i) Equity shares were to be reduced to Rs. 1 each.
PT.0O.
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i) Preference shares were to be reduced by Rs. 1 per share.

(iii} Debenture holders were to forgo their unpaid interest Rs. 5,200 which

| ' is included in sundry ereditors.

(iv) ‘B’ debenture holders agreed to take over the Bombay property al
Rs. 50,000 and paid the balance amount due from them in cash.

(v} Workmen's compensation fund (Bombay) disclosed the fact that actually
there was a lability of Rs. 2,000 only. As a result, the relevant fund
amount balance was to be brought down 1o the required amount.

Investments were realised at 1 (1% above the hook value.
(vi) The plant and machinery were to e written down by Rs. 90,000,

(vii} Any balance remaining was 10 be applied as to 75% in writing down

Pune property and 25% transferred 1o capital rescrve.

- Reguired : Pass the necessary journal entries and prepare the balance sheet
after reconstruction. (12)

(b) Balance sheet of X Lid.. as on 31% March, 2023 ig as follows:

Particulars Note No. Rs.
1 UITY - :
1 M‘M
{a) Share Capital 1 40,060,000
() Reserves and surplus 2 5,00,000
2 Non-current Lishilities
L ong-lerm inas { 12% debentures) 10,001,000

Trade pavables

I _ASSETS

E— B S | e



Notes to Accounts

Particulars Rs. Rs.
1. Share Capital
300,000 Equity shares of Rs 10 each ; 30,00,000
1,00,000 12% preference shares of R 10 each fully paid | 10,00,000 | 40,00 000
up
1. Reserves and surplus
L General reserve %,00.000

eher information
{1} Y Ltd. takes over X Ltd. on | April, 2023

{it) Debenture holders of X Lid. are didchargﬂd by ¥ Ltd. at 10% premium
by issuing 12% debentures of Y Lid,

(iir) 2% preference shareholders of X Ltd. are discharged at & premium
of 20% by issuing necessary number of 12.5% preference shires of Y
Ltd. (face value Rs. 100 cach).

(iv) Intrinsic value per share of X Lid. is Rs. 20 and that of ¥ Ltd. is
Rs. 30. ¥ Ltd. will issue equity shares to satisfy the equity shareholders
of X Ltd. on the basis of intrinsic value of the two companies. However,
the entries should be made at par value only. The par/face value of
equity shares of Y Ltd, is Rs. 10,

Calculate consideration for amalgamation, (8)

5. From the following balance sheets of a holding company and it« subsidiary

on 31.3.2017, prepare a consolidated balance sheet

PTO.
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Pariicalars

I EQUITY AND LIABILITIES

1 Shareholders' Funds

{a) Share Capiial {Rs. 10 each)

.ﬂ’} Reserves end surplus
(General Reserve
Surplus

_2_Current Liabilities
(a) Trade payables- creditors
(e} Other CL - outstanding
EN[HRLEEE
Total

I ASSETS %
I. Mon-current A ysets

L Tangible - Machinery 3,00,000 1,350,000

_ii__ Intangible - Goodwill 30,000 10,000

) Mon-current Tnvestments

{16,000 shares in ¥ Eud) 1,590,000

2 Current

{a) Inventories §0,000 501,000

{b)} Trade Recoivables 1,20,000 1,641,000

{c}) Cash and Cash Equivalents 20,000 FI K0

[ Total 7.40,000 1,80,000

When control was acquired, S, Ltd had Rs 40,000 in general reserve and surplus
of Rs. 30,000. Immediately on purchases of shares H. Lid received Rs, 16,000
as dividend from 8. Lid, which was transferred to profit and was statement.
Debtors of H. Ltd. Include Rs. 20,000 duc from $. Ltd. whereas creditors of §.
Ltd include Rs. 15,000 due 1o H. Ltd.: the difference being accounted for ;t:}r a
cheque-in transit. (15)

OR

From the following balance sheets of a holding company and its subsidiary on
31.3.2017, prepare a consolidated balance sheet
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Particulars Notes | HLtd(in| SLtd(in
Lakhs) Lakhs)
1 EQUITY AND LIABILITIES
1. Shareholders' Funds
{a) _Share Capital (Rs. 10 each) 1,000 400
fb) Reserves and surplus
General Reserve 200 120
Surplus 250 180
2, Current Liahilities
(a) Trade payables- creditors 160 100
(b) Other CL — Bills Payable - 50
Total 1,610 850
1] ASSETS
|. Mon-current Asseis
i Tangible - Machinery 500 360
ii. ible - Goodwill - 6
(b} Non-current Investments 600
2. Current assets
i (a) Inveniories 270 217
(b) Trade Receivables 170 150
ic) Bills Receivables &0 40
{d) Cash and Cash Equivalents 10 23
Total 1,610 850

H Ltd. acquired 80% equity shares of S Ltd. on 1 April, 2016 for 500 lakhs. The
profit and Loss Account and General Reserve of S Ltd. on that date amounted
to 150 lakhs and 100 lakhs respectively. S Lid used pre-acquisition profit and
lass balance to pay dividend for 2015-16 at the rate of 25% (lgnore corporate
dividend tax). H Ltd. credited the amount of dividend received to profit and loss

dccount.

The plant and machinery of § Ltd. has a book value of 400 lakhs on | April,
2016. At the time of acquisition of shares this asset was valued at 350 lakhs. The

PT.O.
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new value was not incorporated in the books of S Ltd. The trade creditors of 8
Lid. include a sum of 24 Jakhs payable to H Ltd. Two-fifths of these goods were
still unsold on the date of preparation of the Balance Sheet. H Ltd. sels goods

at a profit of 20% on sale price,

Prepare consolidated balance sheet of H Ltd. and its subsidiary S Lid as per
Schedule 111 (15)

Lo () i i & v 2 dm ¥ ol s 2013 %1 GRY 52 & SR

e wifa (s)
(a) xun.#mﬁmﬁm%m:#ﬁn&h%ﬂhmwmaﬁﬁh%

50,000 feFct e A Rev, St e 2 2 (10)

T 3 v wid s

HEEH W Giffw wiEw 5 v wiy W

WU A uE 2 w0 ufy T

firdfry win 2 T wiE

70,000 ¥RFd i % e s W w3 60,000 Sta @ HETE F T
hmhmhhiﬂﬁﬁnmmﬁwmﬂh AT W
mﬂmwmmwhmimmwwwhﬁﬂmnh
wTE e dw we ofe 3 AT T+ e o ol e W e w w
Wmﬂ'iﬁmw.ﬂmwtmmhmmﬁwmﬂh.ﬁ
mnhmﬂahmi.-ﬁm%ﬂmmwﬁi%:ﬂrmm
mﬁ&mﬁﬁﬁﬁmﬁhmlmijﬁit 000 T
mﬁvnﬂnﬁhﬂ‘wﬁ;mwimﬁwwﬁ,ﬁhﬂﬁm&q
wiﬂﬁnﬁmﬁmﬁwwmmﬁmaﬂﬁfﬁﬁfmﬁmmﬂﬁmi
A WiEfeW wR Wi
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U 2019 F B Lk w8 B Aw A Fiefaion 39 o 6

(15)

o R Rs. 40 ,00,000
= Hing fAf Rs. 33,28 000
= e fAfr fEm Rs. 33,28 000
(34,00,000 w0 % 8% wowR =n w7 Wikl

AW & Fo W Rs. 2,00,000
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RSt 31 9 o8 9T 7 1,000 9 o vy e e ) Pl @ e 10, T,

7 (15)
i ¥ F5m 7
T 3072,000 | Share Capital 40,00,000
i 33,00,000 | 12 % Debentures 30,00,000
750,000 | Surplus Ajc 2,62,500
w=2i% 8,70,000 | Bills Payable 370,000
EeER 2,50,000 | Creditors 4,00,000
iisﬁﬁ 4,006,500 Sales 41,550,000
o 75,000 General Reserve 250,000
, Bad Debts Provision on
T AT R A i 3,92,500 | 1-4-2019 35,000
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50,000
o 9,79,800
@i 68,350
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HIHEFT =g 1.B0.000
1.24.67,500
s | 24.67.500 -
weing 3or

FTO.
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( xii) mwﬁmmﬁﬁigumMMh
(xiii) faFror = % 22,00 000 W Ho Wi )
(xiv) U= N W 750 e wwele B waRs
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q |onm) |
| st sty Eerriray
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1.

2
(a) Balance sheet of X Ltd., as on 31% March, 2023 is as follows :

: Particulars Naute No, Rs.
_ |. Shareholders” Funds
mﬂ:m l £, S0, ()
FQ' Muﬂmﬂm i 3, 700, (W)
2 Current linbilities
Trade payables - 280,000
Total 1300000 |
I
I Non-current Assets(PPE at cost less depreciation) 7,00,000
2 Current ﬁﬁ 3 8,00,000
Total 1300000

Motes o Accounts

= Particulars Rs. Rs.
1. Share Capital T
50,000 Equity shares of Rs. 10 each, Rs.7 | 3,50,000
citlled up.
Less: Calls=in —arrears on 10,000 shares {20 000}
Add: Calls in advance on 40,(K)) shares 1200000 | 4,360,000
20,000, 10 Preferance shares of Rs. 11} gach 00000 |£S0.000
Fully pmd
1. Reserves und surplus
General reserve 300,00
Surplus Accourit PR LR
3. Current msseis
Cosh and cash equivalents A1)
Oher current ssets HO0000 | 00000 |

Dther information :

Calls-in-arrears are outstanding for six months. Calls in advance were also
received six months back. Interest @ 10% p.a, on calls in advance and 12%

p.a. on calls in arrears are allowed and charged as the case may be, Calls




(b

(a)

(k)

21 fE)

3

in arrears were received after the next reminder sent by the directors. Th:u
directors have recommended the issue of 10% Debentures of Rs. 100 cach

in cash for redceming the preference shares at 4 premium of 10%,

Pass the journal entries for the all the transactions stated above including

redemption and ré-draft the balance sheet after redemption. (12)

State any three conditions for buy-back of shares, (3)
OR

Give the SEBI guidelines for issue of bonus shares, (5)

Hansika Ltd. issued 10,000, 12% Debentures of Rs. 100 each on | April,
2020, redeemable at 10% premium after five years. Interest is payable on
30" September and 31* March every year. On | July 2021, the company
purchased 1,000 of its own debentures at Rs. 96 ex-interest for immediate
cancellation. On | January, 2023, the company purchased another 2000 of
its own debentures at Rs. 101 cum-interest for cancellation. On 31 January,
2023, the company redeemed 4,000 debentures, by converting them into
equity shares of Rs, 10 each, issued at a premiom of 25%,

The company's accounting year ends on 31 March every year. It is assumed
that all the compliance for creation of DRR and DRI has been completed
before making redemption.

Journalise the sbove transactions. (10)

The financial information of Acharya Ltd. is given below

PT.O.
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Balance sheet as at 31" March, 2023 ~
Particulars 2022 023
I i, {Rs. laes) (Rs. lacy)
EQUITY AND LIABILITIES
_%ﬁﬁ 1 e 1,501
eral Reserve i ] 42
Spcunties Preminm - 30
Eurplus Account 250 d0)
Dehenturnes 400 270
Accounts Pavable 200 300
Income Ly payable 4 0
Other current linhilities 250 0
ek | Total 2360 3200
ASSETS
Plant and machinery 1,550 1,E00
Less: Accumulated depreciation (230 {300)
1,320 1,500
Tvvestments (long=term) 15 440
Stock T i, 140
| Accounis recervable 150 s
Cash gl bank 15 40
Total 2300 3200 |

Statement of Profit and Loss for the year ended 31,3.2023

Particular (Rs, In kacs) (Rs. In
A lies}
Sales —Lam
Cost of goods sold {#30)
(30T
| Operating expenses including depreciation ﬁ‘;ﬂd
Interest on debentures (3]
Dividend received 173
Gmans on sale of investment 15
| Loss on sale of machinery ' () 120
Profits befiore tak 470
Provision for lax (114
Profits after Tax 360




(b

Additional information:
{i) The company paid dividend of Rs. 150 lakhs during in the year.

{il} A machine costing Rs, 80 lakhs, sccumulated depreciation Rs. 50 lacs,
was sold during the year.

{iii} The book value of investment sold during the year was Rs, 43 lacs.

Prepare Cash flow statement as per AS-3 (Revised).

The Trial balance of Anubhav Lid. as at 31 March, 2023 shows the following
items ;

Cir. Cr.

Rs. Rs.
Advance for meome-tax 2.20.000 —
Prowvision for income-tax for the vear ended 31-3-22 — 120,000
DS 16,000

The following further information 15 given :
{1) Advance payment of income-tax includes Rs, 1,240,000 for 2021-22.
{1} TDS includes Rs. 6,000 for 2021-22.

(ni) Actusl tax linbelity for 2021-22 amounts to Bs. 152000 and no effect
for the same has so far been given in nccounts.

{iv) Provision for income-tax has to be made for 2022-23 for Rs. 1,60.000,

You are required to prepare: (a) Provision for income-tax account, (b)
Advance payment of income-tax account, (¢) Liabilities for taxation account,
{d) TDS account, Also show, how the relevant items will appear in the
statement of profit and loss account and balance sheet of the company.

(12}
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OR

(a) Pran Limited has the following ﬁhmsﬁukn at March 31, 2022 and
March 31 2023 :

(R in Lakhs)

Parnculars March 31, 2022 March 31, 2023
| Equity Share Capital 1000 wu
12% Pref Shore Capital LRy 200
Rescrves and Surplus _ 3 472
Debentures 3,000 3000
Trade Payables 70 &3
Diher Current ulﬂ;ﬁﬂuw 3,794
Fined Assets Fl 3,466 2.900 |
Cash and Cash equivalonts 489 470
Dabtors 1,495 1,168 |
Stock 6T 2407
Other Curren| Assets 1L S6T 1404
Tonal | 3345

(Rs in Lakhs)
Particulars March 31, 2022 March 31, 223
“Sales == _glﬁi 13,882
Less_ Cosi of Goods Sold B60 12,54
rofit 1303 1,338
Less: Seliing, Adminsstrative 1,135 782
gnd Creneral
Enmning before Imerest and 170 386
Tax (EBIT)
Less Inierest Expenses 113 108
 Profit before tax 57 481
Less: Toax 3 192
Profil affer Tax 3 289 |

Calculate for the year 2022-23 :
» (i) Inventory Turnover Ratio

(i} Debt Equity Ratio




{iii) Return on Equity (ROE)

(iv) Debi-service coverage ratio

{v} Current Ratio
{vi) Capital Turnover ratio

Also comment on the Financial Position of Pran Lid. (12)

(b) ls it compulsory for a company 10 prepare the Statement of Changes in

Fquity as part of 1ts financial statements? From the following particulars,

prepare the Statement of Changes in Equity for the year ending 31" March,

2023 -

Bty sharo capial of Rs. 10 each in the beginning Re 50 crores |
| 5% preference share capiial of Rs. 100 each in the beginning Rs. 10 crores
Retained earmings in the beginning Rs, 100 crores
Rocuritics prmﬁummﬁu:bggi.tmmg Bs 50 crores
E‘:pi:tulmiempﬁunm'Hm&mb@:mg R=. 50 cropas
Rmﬂnuiunmmﬁehuginmng R=. 5 crones
Enwm&pmmndmdﬁugindmmpmﬁu Rs 5 crores
Changes int pccounting policy rmulﬁnamimmwl'm Rs lﬂcmm:
mmmﬂﬁﬂrﬂl{ndumm.immnlgmmmm “‘mﬂ“'i
Ravaluglion gain on property, plant. equipment & intangible assets Re | crore
Dividends pad during the Ve s 5 crores
~ Buy-hack of 20 Ince new shares of Rs. 10 each ot Rs 50 each, out of
securiiics premium dunng the year |
EﬂuufmﬂWHMBfnpmmMmmmmu&mm:m Rs. 4% crores
T!ummmmﬂdmwmwﬂmdmmnfwﬁbym T crores. J
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3. {a) Given below is the balance sheet of Arnav Lid. as on 317 March, 2023 :
L=
Pariicitlars MNote Mo (R}
§ EQUITY AND LIABILITIES
1. Shareholders’ Tanids
in) Share capital
2,000, equity shares of Re. 100 cach 200,000
() Reserve and surplus
General reserve 400,000
Surplus wocount 32,000
2, Current lnbilities
(1) Trade payables (creditors) 1,128,000
(b} Short term provisions (current fx) 60,000 |
Toial 4, 60,000
I | ASSETS
1. Non-Current Asseis
() Fived Assets (mmgible) Land & Buildings 110,000
Plant & machinery 1,30,000
Potent & Trade Marks 20,000
1. Correni Assets
(a) Inventones {singk-in-trgde) 48,000
(b} Trade recesvables (Sundry Debtors) BH,000
() Cash and cash eyuivalants {Rank] 52,000
{d) Other current Assets 11 Expenses) |2, (0 |
4,ml,:mrﬂ

The expert valuer valued the land and buildings at Rs. 2,40,000; goodwill a
Rs. | 60,000 and plant and machinery at Rs. 1,20,00. Out of the total
debtors. it is found that debtors of Rs. £,000 are bad. The profits of the
company have been as follows: 2021-21 Rs. 80,000; 2021-22 Rs. 90,000
and 2022:23—Rs. 1,06,000, The company follows the practice of transferring
25%, of profits to general reserve, Similar types of companies earn at 10%
an their capital. Ascertain the value of shares of the company under : (1)
Intrinsic value method; (ii) Yield value method and (iii) Fair value method

assuming that depreciation on land and building at 10% and plant and

machinery at 15%. 9y
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{b) The following is the Balance sheet of Devansh Lid, as at 31" March, 2023 :

Particadars Note No, K.
I EQUITY AND LIABILITIES [
1. Shareholders funds |
(n) Equity share Capatol (Ra. 10 per cach) 2.50,00, 020
Redeemable | 2% preference shares of Bs 10 0, 01, D00
ench
(b} Reserves and Surplus
Genernl resetve | 1, 300, €60, 300
, Surplus  Opening balance BO_00.000
Add - Current vear profit — 4,90,00,000 5,70, (0, (D0

L Mop-curreod linbilites —

3 Curreni linbilities
{a) Trada pavahbles {creditors) S, 3, (e
Toal 11,063, (W), 000
1 ASSETS
L Non-current Asseds
{2} Fixed mseis (mnmble)

Baildings st WDV 4,43, 00,00
Plant & machinery at W.D. V. I, L OO0
Fumiirs snd fixtores st 'W BV A5, 00,0
A (b Non-current Investments:

Units of U T.1 (18,00,000 units) 1,80,00,000

L Curvent Assets
(a) Invenionies (Stock-in-trade) I, B0, O, EHD
() Trade receivahbes (Sundry dabiors) 1, 30,00, 000
(c) Cash and cash equivalents (Bank) &,00,000
(d) Other current  assets  (Miscellanecus 2, 003, 00

expenditure)
Total 10,00, 00, 000

Note: Currents year profits include income of Rs. 26,00,000 from units.
On revaluations, buildings are found to be worth Rs, 10 ¢rores and plant
and machinery is determined to have a value of a crore of rupees. The
money invested in units 15 not required for business purposes in the near
future. Normal profit in the industry 15 at 18% p.a. after tax on the capital
employed. Income tax Hability for the company usually works out to be 50%
of book profits. Caleulate the value of goodwill at 4 years’ purchase of

super profits, (9)

PT 0.
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(#)

(b)

()

10
OR

What is corporate brand accounting. What are the main issues in brand

valuation? Explain any one method of brand valuation with example.  (9)

Keshav Ltd, provides the following information :

Rs.
Equity share capital 20,00.000
Reserves and surplus f, 00,000
12% preference share capital 4,00,000
10% debentures 5.00,000
Immovable property (held as investment) 2,00,000
Profit after tax 6,00,000
Rate of tax 4%

Companies with beta factor of 1 in similar business have market rate of
return [5%. Beta factor of this company is 1.1. Caleulate Economic Value

Added assuming risk free rate of return 7%, {9)

P Lid. takes over S Ltd. as at 1" April, 2023, The balance sheet of § Ltd.

as at that date was as follows :




Particulars Note no, Ra.
I | EQUITY AND LIARILITIES
(1) Shareholders” funds
() Share capial | 500000
(b} Reserves and surplus 2 3,00, 000
{2} Mom-current liabilities
Long-term barmow: ;[ 100000
(3) Current lighilites
Trade payables - 1,000, D
Total 10 EHL MDD
il | ASSETS
bl 1y 11} Noo-current assets
. Property, plant and equipment and intangible assets =
Property, plant and equipment 5,061,000
(2} Current assets
Inventories (stock-m-rade) 2,000,000
) Trade receivables 2,000 000
(€} Cash and cash equvalents (cash at bank) 100,000
Total 10,00,000 |
Notes to accounts
= = Particulars Rs. Rs.
1. Share capital
_ 50,000 Equity shares of Rs. 10 each fully puid up 500,000
2. Reserves and surplus
| Gieneral reserve 2,00 000
Statutory reserve 100,000 | 300,000
3 leim Iﬂl‘ﬂl‘.‘l_ll!
12% debentures of Rs. 100 each Mully paid up 1,00 L0

P Ltd. agreed to issue 30,000 equity shares Rs. 10 each ata premium of

Rs. 5 per share to the shareholders of § Ltd. 12% debentures of § Lid. will

be converted into equivalent number of 12% debentures of Rs. 100 each.

Statutory reserve of 8 Ltd. is to be maintained for two more years,

Pass acquisition entries in the books of P Ltd.

(6)

£ T.O.
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(b) The following is the balance sheet of Deepak Lid. as at 31" March,
2023 ; "
Particulars Mode- Ra.
no.
i | EQUITY AND LIABILITIES
1. * funds
Share caprial 1 200,001,000
Reserve and surplus 2 (19,55,000)
2 Non-current liabilities
Long-term bomowings ( | 2% debentures) 5,00,000
3 Current hahnes
Shori-erm hOrrowirtEs {Bank loan) 55,000
Trade pavables (Trade croditors} 3,00, 000
Other current  lishilites {Onetanding  debenture 1, 20,000
priferest !
Total 10, 20,000
Il | ASSETS
|. Notr-current Assets
Property, Plant and equipment and intangible assel
(1) Property, Plant &nd equipmment 3 530,000
(i) Intangibie Assels 4 50,0000
Oiher non-current assels 5 20,0000
2 Current assels
Inventores (Stock-in-trade) 350,000
Trade recavables (Tmde dehtors) £l O]
Cash and cash equivalents {Cash at Bank) 1,000
Total 110,200, (60
Notes to accounts
Particulars Hs. Rs
1. | Share capltal
20,000 Equity shares of Rs, 100 each |_:::-‘_mau_ml |
2. | Reserves and surplus
25, 00K

Profit prar 10 incorporsl
3 Pmpnﬂ.;ilmudnqﬂ!-ﬂt

Gioodwll
& | Orher non-current Axsels
Dhscount on issue of debeniures

108
Surplus/(Deficit) in the staternent of profit and loss

{19.80,000) | (19,55,000)

1,50, 40
3, (W) 0]
SR

3, 30,000

S0, (I

20,00 ;
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The following scheme of reconstruction was executed

(1) Equity shares are reduced 1o Rs. 5 per share. They are then

consolidated into 10,000 equity shares of Rs. 10 each.

(i) Debenture holders agree 10 forego outstanding debenture interest.

As a compensation, 12% debentures are converted into 14%

debentures.

(i) Trade creditors are given the option to either accept 50% of their

n cash in full settlement or to convert their claims into equity

each, Creditors for Rs. 2.00,000 opt for shares 1n

claims i
shares of Rs, 10

satisfaction of their claims.

for cash payment, to repay

{iv) To make payment 10 trace creditors opting
ues 50,000

bank loan and to augment working capital, the company iss

equity shares of Rs. 10 each at par, the entire amount being payable

along with application. The issue was fully subscribed.

{v) Land and building is revalued at Rs. 2,25,000, whereas plant and

machinery is written down to Rs. 1,85,000. A provision amounting 1o

Rs. 5,000 is to be made for doubtful debts.

Pass journal entries and prepare ihe Balance sheet as:at 1% April, 2023 after

réconstruction as per schedule 111 (12}
R
The balance sheet of Radhey Ltd. as at 11" March, 2023 is as follows :
PT.0O,




Particulars

Rs.

EQUITY AND LIABILITIES
(1) Shareholders” funds
{a) Share capital
{b) Reserves and surplus
{2) Current liabilities
{a) Trade payables
{b) Short-term provision

ASSETS
{1} Mon-current Assets
Property, plant and Equiprment
i2) Curment Assets
{a) Inveniories (Stock)
(b) Trade Receivables
{¢) Cash and Cash squivalents

.00, 000
2.82,000

1,33,000
1,10 00
11,25,000

4.87. 800

3,87 40N

91,00
1,58 3000
11.25, 00K

Motes (o Accounts

Particulirs

Ehare cupital

60,000 Equity shares of Rs, 100 each
Reserves and Surplus
Pre-incorporation profit

Contingency Reserve

Surplus i.e Balance in the staizment of P & L
Trade payable

Creditors

Accepiances:

Short-term

Provision for tax

Property, plant and equipment
Freehold premises

Furniture and finings

Trade receivables

Sundrv debrors

Less; Provision for Doubiful debis
Bill receivables

Cash and cash equivalents
Cash in hand
Cash at bank
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Karuna Ltd. decided to take over Radhey Ltd.. from 31" March 2023 withithe
following assets at values noted against them :

Rs.
Rills receivable 15,000
Freshold premises 400,000
Fumiture and fllings £0,000
Machinery 160,000
Stock 3.45.000 |

Oine-fourth of the purchase consideration was satisfied by the allotment of fully

par, which carried 13% dividend on

paid preference shares of Rs. 100 each at
he form of Karuna Lid.'s Equity

Cumulative basis. The balance was paid in 1
shares of Rs. 10 each, Rs. 8 paid up.

Sundry debtors realised Rs. 79,500. Acceptances Were seitled for Rs. 19,000,

Income-tax authorities fixed the taxation linbility at Rs. 1,11,600. Creditors were

finally settled with the cash remaining after meeting liquidation expenses amounting

to Rs. 4,000,

You are required to:

(i) Calculate the number of equity shares and preference ghares to be allotted

by Karuna Ltd. in discharged of consideration;

(i} Prepare important ledger accounts in the books of Radhey Ltd.; and

{iii} Pass journal entries in the books of Karuna Lid. (18)

s (a) What is meant by Annual report? What are the constituents of Annual

report? Also, differentiate between Annual report and Financial Statements,
(10)

PI.O.
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(b) From the information relating to four segments of X Ltd as given below,

identify reportable segments :

Rs In Lakhs _
Segments A B C D Total
Segment Revenwe 1o I [ 200 400 i)
Serment Result {di) 9| 10| (10 150 |
Segmen| Assets 3 15 B 9z 330
Sepmenl Tax Assets included sbove 5 .| B B o
(5)
0OR
Write short note on the following (any 2) :
(i) XBRL reporting
{it)y CSR reporting
(it} Reportable segment as per AS 17 (1.5%2=15
L (5r) 3 A, 2023 S R @ sew vew fafeee o A9 e Feee #
[ v e waEm #.)
I
e BT
(a) 7 [ 650,000
2
280,000
Gl
- T Tiea T Br
1. L TR (TS TTH & aG ara T 7,00,000
wufly, wos 2Ty, :
2 2 FAEHE Ead 5 3 8,00, 000
am




E ® AR #® A

Rz ®. %.) ®.)

40,000 waL 7 E9Y | 3,50,000

10
| e R =M
¢ 40,000 ¢ Him 1, 200000 | 4,50,004 B
20,04K), 10 10% 07 g i | 200000 | 30000

Il
2. i A N o
__ﬂﬁﬂqamﬁ:rﬁﬂ 300,000

= 5,70.000
3, sEmEETY

TG A A 2,00,000

b et t R.00000 | 500,000 |
=T e

ﬁa—ﬂ-ﬁmmwﬁ%miuwnwﬁﬂmﬁaﬂﬂmﬁrﬁ
i w 0% # e F sk w (W) # e O W 2% W 2l s
o & i i < i s B, e T &) R W N T S
S (T ) F W A (eifr) ot wwr i we g PR 00
i e i Sl g S e 00 TR F e # 0%, el 0 A

fare =1 1
Wﬁmmwﬂﬂﬂ-ﬁﬂﬁ!ﬂﬁnﬁﬁﬂmmﬂhﬂﬂ
% wrr ¥ fir =i B F Fow A (12)
(w) T o g (argder ) & o = e v wree W (3)
m
(%) e T e Ay 3 @ R e A (5)

fa) wRmm fafiee 1 oW, 2020 T WERE 100 T % 10,000, 12 Tedem woit fF g,
ﬂ_*mm&mm%ﬁﬁmmwmvﬁnmﬂm ap e i 3 W
=i 25 B #) 1 S 202 w1 F T A v % o os v W WA

PTO
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o - T = 1,000 fodra W) 1 D, 2023 W, FA # g =
for 101 T o W A - W o T & 2000 F (R WAL 31 A,
2023 ﬂ,ﬁﬁﬁ:u%mmﬂmm 4,000 e = 10 T WA F
wfererdt Sl # AT A e

O A T A A mnﬁﬂmﬂmilmmmiﬁiﬂwﬁ
# qra fer e fead (B3maw) sty o e e (Bramad ) #
o i S @ e A

aﬁﬁﬂw-hﬂaﬁnwﬂhi (10)

(%) mﬁﬁﬁﬁﬁmmﬁﬂﬁt:
31 W, 2023 + feufy & wepEw Aew HiT

T R 2022 (6T = UY) 2022 (SR =AY
T A aaane
W 1, W0 1,500
T 0 120
EilchisE - n
EiitiE s 250 400
TEaa 300 70
ECE 0] 200 30
=0 YT 40 £,
S A A 250 3
] 2.5 3.200
Bl
EaEitrin 1,550 | %00 |
‘ﬂﬂ: mﬂq {230 { Oy
1,320 | 50
By (bt 318 440
ymathis 700 1,140
o = 151 .11)
§ =% Ecril 15 A0
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313.2023 W T B R of o o - famem

P
Ta

(T ) EEE |

(4 T e A

I, 480

(B30

| Hraer wiea afrares ww

S0

G

{3005
350

(&)

FTTR T BT
T T o

173

e P o e

15

EEELE

1#) 120

w1 ¥ g wayms
Eﬁmm

470
{11y

360 |

HARFT S -

=

(i) =90 3 = B 150 T T A T S

[ﬁ}-ﬁﬁﬁwauﬂmﬁﬁmﬂmm.

ol -

| yrwm 50 = e

{iﬂ}ﬂﬂ‘ﬁﬁrﬂwﬁhﬂﬁﬂquﬂmm&ﬁl

A W (o) -3 Nﬂﬁalﬁmmﬁmﬁﬂwmﬁmu

(12)

(7) 31w, 2023 1 Faft % wqeEm T T o - Pt W

T #

e F o wfwm ofy

$1-3-22 it T B T o % v s

= v wage

M Btz
L3 %
2,20,000 —
— 120,000
10,000

PT.O.
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nﬁmmm#ﬁﬂfi:

(i) sz & sfer s 2021 - 20 % fow 1,40,000 v wfivs 2

(i) Zréew ¥ 2021-22 % fiyw 6,000 7 i #)

(i) 2021-22 %EHMEIMME,nmﬁi Sl o o e
T W W A a2

(iv) ot 2022-23 % fiw 1,40 000 Wit & FTE W WA e w2

() v fafes & we 31 a9 2022 ik 31, 2023 o fafy & Fan Fratfem
iy e 7

i [ 31 98 o2 NAE2 |
| & @ Bl 1,000 800 |
[ 129 T e Bt 1006 200
| SR AT ofe ady 377 a1l
TEdET 3,001 3,000
=miE 2 570 g
S A T 3937 379 |

am 9884 849
“ﬁ*ﬁ? 3466 ERLUY
?iﬁﬁiamﬁu T 370
TR 1455 1168
HITE e 2867 2407
S T U 1,567 1,40

w 2884 | 834
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s B A o B T & ffre o Re e 2 (AR oA )

T 31 94 2022 31 99 2012
T 22 165 13,882
EETE. i TG W 1 Aa 20,860 12544
T T 1,305 1,338
. [ s AN 1,135 752
HE
ikt i 170 586
.
] 113 105
FHTH T T 57 Tl
weT W 3 92
1 W wE T ET) 29

af 2022-23 ® f e w0
(i) TG T TR
(i) e el
(i) ey aifer fred (et )
(iv) ¥~ wffs e Tl

(v} =ie =

{ﬂjﬁ'ﬂ’!ﬁfﬂ'm
: wrr Py o el foufa o sl feoni A (12)
(q) = ol wo & fe @ sPmd 3 5 w a i Rl @ wm & w0 A
e 3 i o a7 Pt fr A, 319, 2023 I A
i of 2 fr ofed W ofie @ fiEo dow S -

AT.O.
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3. [(ar) 3w, 2023 o foufs % R s Rt @ e W SR A R

12

e # 10 v S = e g

sgmﬂ#mi'r

eI A 100 TR 5% T HW T

10 RS Ty

TEHA A A WA 00 T T
wea ¥ wiengf i 50 T T
wpwsmr ¥ ot e wfe 50 mﬂ;mﬂl
TN ¥ e s A 5 e T
sl & guw & ftveres A w9 A 51:%“4&1

Sreerer 9 afteder 3 v ¥ 972 ofe T

10 FE T

sy & fovg Py s (Fel op offader W 4 O w0
% W& 7 A

20 e T

At Fia, IO AR S AT T R A

1 e T

o = F AR e T A

5 TirE T

k= S A 2 e ¥ & so o W e A w
10 T wfE S # 20 AR A0 R Fi g

a8 F ot A g FAf W F w6 e =

45 THAE T

e 3y, e s I (66 # w2 gy e
7 wAE o0 4 wew (e ) e
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R AedEn | F
T |32 o SAghe
1. IS E e
(a) BT YA
2 o, 100 T 5 iR S 2,00, 000
(o iR Tfr alvy iy
wrara frerd 40,000
ifirdm =wn 32,000
7. R A
{a) ST 3 (AR l 1,258,000
(b) MFTETOE WA (9 F) 0,000
gt 4.60,000
n | gf
1, 1 P afEem
a) s wuE o - i R W 1,160,000
wra s 1,730,004
fiEe A oo B 20,000
2. AR E
(n) FRct (®IBFAEE) 48,000
(b Ty e (A TR ALY
{c) T 3 e Tag (1) 52,000
(dy 37 v TR (e 12,000
i ERCIR

mw#qﬁﬂwﬂmw:mmnimﬁ i ¥ i W
'fnm'l,aa,nuuifw&ﬁmh sy A SR wEE T A 1,20,00 ¥ T
form 21 = deewt # A, @w v & 7 8,000 it o P it ¥ = W
A 2021- 21 & ¢ 80,000 WA 2021-22 W AT 90,000 i 3F 2022 -23
& fm 106,000 w7 TET B O Ay e A 250, THRARA WA %
et w5 e A B T A A e w T 10t = @ e F
& Sl = e e i - (i) R e R (i) s e ey o (i) SR
sy A e W KU T i vy T AR 10% 3 R A A w60
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foraor Aedmn| @)
B EE R
1. o A
() TR W ot . 10 Uf T | 250,008
10 T8 uiE S d 2% ol e 8 e 0 0L
Al
() 3 Al ol afird
' e feed 1,30,00,
' e - w9 R, 00, 00
| Gl gfREEE T A 490,060,000 T
1. Tyado St
3. HoaH aaaft
(a) TS & (TEH) G0, O,
g | 11,00,00,
n | oo
1. RadeE et
(=) arm e o)
eoRd fofda ge 4,45,00,
s o it fofea e 1, 10,00,
w3l v fefEm e 45,000,000
ity e Fram
2 s o S (18,00,000 FETE) 1,80, 00,000
: 2. wEFETE
(a) T @i dE 1,80, 00, 00K
(k) =t wifty (fafdy $7=m) 1, 30,00,000
(¢) g AW S gEged (e B, 0, (0
(d) s aEdn st (fafaw =m) 2,000, 00
o 11,000,060, 0008
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e ] T W T A d 26,00,000 T A 33w 21 peisinT
mmﬁﬁmmﬁgmﬁqﬁaﬁhﬁmﬁaﬁuﬂaﬂmﬁwmﬁ
Priifea farm s 2 P it ¥ =t stedt & o swm # e
R L R U TR o R TR R B TR T pe————
ﬁi;ﬂﬂﬁmMMWmem#..m#lwm
4 W F T w oty F g A e S (%)

T

(&) ﬁﬂﬂzﬁﬂaﬁawi?mmimﬁwi?m%mm
e o & v faft w0 we i (9)

{H}ﬂmﬁlﬁhﬁﬂﬁﬁaﬂmmmﬁri:

(%)
HEE Bl 20,00,000
e Ffr s sfidy 6,00,000
12, THIEAT T g 4,00,000
0% i 8,00,000
#99 T (R & ww 9 2,00,000
TR AT A &,00,000
o F W

40%

= wEE A e fie deer o sl o aew 15% ®1 T T W

=z w1 B s A i g 7% WA g s ww afif @t e
Fifa ()

4. () ® @R 31w, 2023 ¥ ve fafir = witrrew féan 2w wéter =1 va ffe
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1131
m H‘Em (8] =
| ST ol aevarre
(1) TRURE] & B8
Uﬂiﬁf@ﬁ__ 1 5, (00D
(b AT T S S 4 i i
ﬂ!ﬁiﬁﬁﬁiiﬁiﬁiﬁ
e OO 3 il
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— 100,000 |
10,00,000
11 | wrrearet
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% fafuy 7 v AR & TerowEl F 5 w0 oW AW @ @ w oo T Al
I T 30,000 T S W0 W W AEAi wee o v R 20, B
w100 TR & 120 fdew o ww geen # gl e wom w fBRer E
wifafs Fwfen B =1 = 3 =t & fe = o R

i ffez =t gt ¥ sftrmee wfafear o it (&)
31 |R, 2023 @ fufy & sEw Suw e W gee w eelates 2
| i cee] Al %)
| BEEE R SEET]
| W] ¥ e
I e gl 1 20,00, 000
' i R she iy 2 (19.55.000)
2 TR.ame EAem
TImTE SUH (12% 5, (K000
1 TEAE e
HETHIES JUR (#F W) 55,0110
S 51 (FTOR AR 3 060,000
ar T deeat e Fide womn 120,000
[ 10,26,000 |
1 | wfraferat
| Madme afe
iy Hufy, w0y aly arem : 3 5,30,000
Ly ¥ whEafeet 4 500, 00K
oy By.amey it 5 20,000 |
2 T EG
T (RS 3,50,000 |
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Gl e J

I Taem @) @) |
I | Sy
Vo0 R 3 20,000 B TR 201, 04,000
2, | st AR ol adirds '
e & aed o 25,000
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e - #0000 5. 30,0000
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(iv) 7% W 1 fers 3o W S SEEE e W, =
TFE S wddE O W e F AT, w1 3 0 e # W 50,000
i e e g o s R A WA vy @ e H

WEHEE B T 9

(v) sf s v w1 RE@ES 225,000 T, W AUT AR wEA0 W
g 185,000 ¥ e fa o &) SR w0l & faw s poo T A

T == WA e

Trege (1l F seER g & = wee wEked oW fifaw 6 w8, 2023

feafa & s #ea i dam St (12)
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P )
KL GE Sscie
(1) dauRE! & WE
{a) ST gt &, 00,000
(b amfar P ol o 2.82.000
J {2) (2) TARA Sari
{a) =T & 1,33,000
(b) (%) SrETamitny wEwE 1,10,000
T1.25,000 |
I | ufEdiem '
(1} (1} - i
wafe, T sty I 4.87,800
(2) e gfgfem
(a) 5421 (2T 3,87.400
(b) @ Wit S1,000
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ke taid down in Royal British Bank
Are there any exceptions Lo this
(5 marks each)
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() PR Lud. dssasd @ prospectss with misleading

M. an investor had the knowledge
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(a)

(b}

2
A firm has two machines costing 24,50,000 and 23,00,000. Eack machine
has S years" life with scrap value nil. Find the depreciation of each machine

for each year using matrix notations if
(i} Both are depreciated by Sum of the Year's Digits Method.

(i} First is depreciated by Sum of the Year’s Digits Method and second
by Straight Line Method, (3)

OR

A firm produces three products P P, and P, processed on three muchines
M. M, and M, before completion, M, can process 25 units of P, or 50 units
of P, or 75 units of P3 per hour. M, can process 50 units of any one
product pcr. hour. M| ean process 50 or 25 or 100 units per hour of products
P, P, and P, respectively. The processing hours available on machines M,,
M, and M, are 12, 12 and 123 respectively. Using matrices, find: how muny
units of three products can he produced per day. (5)

An economy consists of sectors-manufacturing and agriculiure. To produce
ane umit of manufacturing output, 0.1 unit of manufacturing poods 3,11»;1 0.01
unit of agricultural poods are required as mput. One unit of agricultural
output requires 40 units of manufacturing goods and nil units of agricultural
goods os inputs. A unit of manufacturing goods requires 4 man-hours of
labour and a unit of agriculture requires 100 man-hours of labour. Caloulate
the total labour requirement it 50 million units of manufacturing and 2 units
of agricultural goods arc used for final consumption. Supposing the wage
rate 15 £ 10 per man hour, caleulate the equilibrium prices of manufacturin g

and agricultural goods. (7)
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OR o

You are given the following transaction matrix for a two-sectar economy :

Sectors Sales Final Demand | Gross Output
Purchase I n
I 4 3 13 20
1 5 4 3 12
Primary Input 11 5

{i} Write the technology matrix.

(it} Rewrite the now transaction matrix when the final demand for the
output of seetor | increases 10 23 units, (7

2 {a) A food company must produce 200 kg of & mixture consisting of ingredient
% and ¥ daily. X costs I3 per kg and ¥ 18 per kg. No more than B0g of
X can be used and at least 60kg of Y must be used. How much of each
ingredient should be used if the company wants to minimize cost? Formulate
the above as a lincar programming problem and solve graphically. (6}

OR

Writ:- the dual of the following linear programming problem -
Maximize Z = 3x, + 4%, + T,
Subject to %, +xt2x, s

41,—1:~;12Iﬁ

P S s T i

X, K Xy 2 0 (6)

| 2

PT.0.
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(h) A company produces two types of leather bolls - Type A and Type B. The
contribution to profit per belt is T8 for Type A and ¥6 for Type B. The time
requirements of one belt of Type A and Type B are in the ratioc of 2:3. Time
available is sufficient to produce 500 belts of Type A. The leather is sufficient
for only 400 bels. Belt A raquiru a fancy buckle and only 200 fancy
buckles arc available. Formulate the above pmbi:rm and solve it by simplex
method. (12)

OR

For the following linear programming problem :
Write the dual of the following linear programming problem
Miximize Z = 10X, + 6X, + 4X,
Subject 1o

X +X, +X, =100

[0X, + 4X, + 5x, < 600

2X, + 2X, + 6X, < 300

XX Xj=>0

An incomplete table is given below

% % A s, Ch s, b,
0 | 56 513 116 0 200/3
I 0 16 23 1/6 0 100/3
0 0 4 -2 0 | 100

(i) Complete the following tmhle and test whether solution is optimal or
not. If not, find out the optimal solution,

(i) Is the solution feasible?




.
o |
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(iii) Is it & ease of multiple solutions? ; J
(iv) Is the solution degenerate?

(v} Write the optimal product mix and the profit contribution shown by the

above solution.
(vi) Which resources arc fully utilized and which are not and to what extent”
(vii} What are the shadow prices of the three resources’

(viii} If the capacity is to be expanded, which of the three resources should
be given priority?

(ix) If a customer is prepared to pay higher price for product X,
how much should the price be increased so that profit remains
unchanged? (12)

3, (a) The rate of change of total cost (C) of a commodity per unit change of
output x is called the marginal cost of the commaodity. If there exists a

relation between C and xin the form :

c::ix[”TJﬁ

X+5
Using calculus, prove that the marginal cost falls continuously as the output
inCTeases, (6)

OR

A company charges T6000 for a television set on orders of 50 or less sets.
The charge is reduced on every set by ¥75 per set for cach set ordered in
excess of 50. Kind the largest size order the company should allow 5o as

[0 recelve 3 maximom revenue. (6}

PT.O
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{b) A production function if given by ;

Q = fLK) = 27L**K"
where L is labour and K is capital.
(i) Find the behavior of marginal product of each factor.
(i) What is the nature of returns to scale?

(iii) What is the total reward of labour and capual if cach factor is paid a
price equal to its marginal product? (6}

OR

Find the marginal rate of technical substitution and the elasticity of substitution
for the following production function

x = f{lk) = [ak®+ (1 - af?]"*
where x is the total output obfained by using | and k units of labour and
capital respectively. (6
{¢) The supply curve for a mmmndit.jr is p=1.li"il+x and the quantity sold is 7
units. Find producer’s surplus. Can you find consumer’s surplus? 6y

OR

The price elasticity of demand for a commodity is.

: b A s
M pT)p+2)

Find the corresponding demand function if quantity demanded is § units
when the price is T2 (&)
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4, [a)

ib)

T
A piece of machinery costs 312,000, The total cost of operation fram
the time of purchase up to a time 1 15 given by the function 200 + 151, If
the machine is sold as scrap after t years, the resale value is given by
the function 6880 — 60t*. Find the optimum time for replacement of the

michine, (6}
OR

A multi product firm produces two commodities X, and X, whose prices per

unit are 12 and 18 respectively, Assuming the firm’s cost function as
0= 2X! + XX, + 2%

Obtain the equ’ilib-ri um levels of its products which maximize profit. (&)

A company developed a very cfficient type of machinery. This new machinery
can he delivered in Delhi at a price of ¥90,000. The rate of cost savings 1§
given by the function fir)= 5000t'%, 0 £ 1= 15 where t represcals year and
fit) represents savings in rupees as a result of introducing new machine
¢ th year. How many years of normal operation will it take to pay for the

cost of machine? (&)
Ok

For the demand curve aQ + bP — K = 0, where a. b and K are positive
constants. Determine the point elasticity of demand when marginal revenue

is zero. {6}

PT.C.
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6. Attempl any three: o (53

(i)

(b)

(c)

(d)

Mr. X deposited 210,000 in a bank for 3 years, offering interest at the rate
of 6% compounded half-yearly during the first year, dt the rate of 12%
compounded quarterly during the second yeur and at 10% compounded

continuously during third year. Find his balance after 3 years.

An ssset costing T4500 will depreciate to a scrap villae of T500 in 10 vears.

Find the rate of depreciation,

A loan of 230,000, at the interestrate of 6% compounded annually, is to be

amortized by equal payments at the end of each year for 3 years. Find :
(i) The size of each annual payment;

(i) The principal outstanding at beginning of 4" year:

{ifi) Interest in 4™ payment;

(iv) Principal contained in 4" payment; and

(v) Total interest paid,

Machine A costs 10,000 and has a usclul life of 8 years. Machine B costs
%000 and has a useful life of 6 years, Suppose machine A generales an
annual labour savings of ¥2000 while machine B gencrates an annual labour
savings of T1800. Assuming the time valoe of meney is 10% per annum, find

which machine 15 preferable?




{e) A debtof 5000 due 5 years from now and 25000 due 10 years from now
18 to be repaid by a payment of 72000 duc in 2 years, a payment of 4000
in 4 years and a final payment at the end of 6 years. If the interest rate 13

7% compounded annually, how much is the final psyment?

L () v % 9 9% 24,50,000 FF 13,00,000 F 7 T A F whvwow S
w1 W e o 5 2 R W A 3w e e o @ e
Weldw W o R W W] 4l

(i) 9= =1 srawe o F siw B ® 9w e

(1) s ok 2 e i = e e sty e v e fofin e sy fo e
# | (5)

ol

v WA A IR P, P 3 P W R weE A i M, M o w
s w41 M, P, 9 26 vewedt Oy p, 9 50 v W P, it 75 FeEAl
WA w2 weifte o w1 M, ol w2 R o e o so Tl =t dafe
W CHEA 1M, FWE PP S P Iemer o 9 w2 50 W 25 W j00 WA
I HEE WA W M, M. S M, W IR SR O S 12, 12
s 13 #1 A = T w gy, W o R S e o e sema

w1 IS TR wn awer B (5)
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Maximize Z = 10X, * 6X, + 4X,

Subject 10
x,+:-::+x?5mn

10X, + 4X, + 3%, < 600
2%, + 2%, F 6K, S 300

xl' 2:"“::' E] 20
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| x % 1 & I m S, 54 b,

| 0 i 516 w3 | -\ 5 | 2003
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. {8} Enumerate the practical difficulties involved in mstalling a costing sysiem m

u manufacturing coneern. Tn

(b} Keshav Ltd. Manufactures picture tubes of T.V. The following particulars

are aviilable for the year 2022.

Avernge monthly market demand 20000 wuhes
Ordernng cosis T200 per order
Inventory carrying cost 20% per annum
Cost of ubes 22640 per tube
Normal usage 100 tubes per week
Minumm usage 50 tubes per week
Muaximunl asage 150 tubes per week
Re-order period 6-# weeks
Compute the following |

(i} Economic order quantity
(i) Re-order level
(i) Maximum stock level
(v Minimum stock level (8)
OR

(4} From the following iransactions, preparc a store ledger account for the month
of July 2022,
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July 1 Cipening stock 200 units (@ 45 per unit
July 4 Purchases GRN-574 150 units (@ 46 per umil
July 5 Issued SR-220 100 units
July 10 Purchases  GRN- 378 200 units @ 46.50 per unit
July20  Tssued SR-223 140 units
July25  Purchases  GRN-3560 150 units @@ 48 per unit
July 30 lssued SR- 124 150 units
Julv 31 Return of 10 units purchased on July 25.

Find out the value of stock as on 317 July 2022 if company follows perpetual
inventory method by FIFO. {7)

(b} Distinguish between :
(1) Sunk cost and Qut-of-pocket cost
(i) Opportunity cost and Imputed cost
(i) Controllable and Uncontrollable cost

{iv} Variable and Fixed cost %)

OR

2. (a) Anemployee of ABC Co. gets the following emoluments and benefits :
(1) Salary 125,000 pm

i) Dearness allowances

1" L0000 of salary T4.000
On next T10,000 of salary 21,000
Om balance of ‘every 210,000 5,000 or parnt thereotf

PT.O



4027

(i) Employer’s contribution

— e pmwiirmfunﬂ goy, of salary and DLA.

— ta ES] 40 of salary and D.A.
(iv) Bonus 0% of salary snd DA
(v} rher allowances 27,725 per annum

A an :ﬁlufﬁ'ﬂ:.wurkj_ for 2000 hours per annuim, out of which 175 hours
ate non-produgtive bul are wented as normal idle Hme. You are required 10
find out effective houtly COSL of A: (3]

(h) X farnishes the following data related 10 the product red's imanufacturing for

May 2022,

stock of raw material as on 17 Moy © 165,000
Stock of raw material as on 31 May 101,000
Direct lubour charges 264,500
indirect labour charges L 56,400
purchase of yirw materials Iﬁ‘{ﬂﬂﬂ
Freight inward | 115,600
Othet expenses on purchases | 12,500
Freight outward 210,300
Advertising 228,000
Sale of gcf:p 21.500
Office rent and rales £54.000
C omimission on issue of shares 6,000
Goodwill written off TR,OO0
Transfer to gencral resene | 210,000
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l Other direct expenses 15,400,
Advance income tax F17.500

Depreciation on

| - Plant 222,850
- - Office fumniture | 211,000

i Stock of finished poods as on 1% March Toh, 000
'8 Stock of finished goods as on 31% March 1‘54,1‘;53
Manager's salary T48.000

(manager’s time is shared between factory and bifice in the ratio of 20:80)

Prepare a cost sheet for the month of May 2022, (10}
OR

: The contract ledger of M/s Solanki and Sons showed the following expenditure
' an account of @ contract on 31st December, 2022

+  Materinls T2,.10.000
= Woges T2.93.000
«  Plant TT70.000
«  Sundry Expenses T15.000
«  Establishment Charges 210,000

The contract was started on 14 Jan. 2022 and the contract price was 10,00,000.
Cash received on account to date was T4,80,000 representing 80% of work
certified, the remaining 20% being retuined until completion. The value of plant
on 31st December, 2022 was 20,000 and the value of materials in hand was
26,000, The cost of work finished but not certified on the said date was 750,000,
Same of the materials ¢osting €20,000 were found unsuitable and were sold for
216,000 and a part of the plant costing 5,000 unsuited to the contract, was sold
at-a profit of T1LO00. In order to calculate the profit made on the contract to 317
December 2022, the contractor estimated further expenditure that would be
incurred in completing the contract and took to the credit of profit & Loss Afe

o i S
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for the year that proportion of the estimated net profit to be realised on thie
contract which the value of work certified bore 10 the contract price. The estimates
of Further expenditure were as follows ©

(i} That the contract would be completed by 30th June, 2023.

(it That a further sum of 30,000 would have o be spent on the plant and the
residual value of the plant on the completion of the contract would be

212,000,

(i} That material in addition to those in hand on 31st Dec., 2022 would cost
1.00.000 and that further sundry expenses of T7,000 would be incurred.

{iv) Those further wages, for the completion of the contract, would amount to
71.69.900.

{v) That the establishment charges would cost the same amount per month as i
the previous year.

(vi] That 218,000 would be sufficient to provide for r:.nnﬁngn:neias:'

Prepare contrict account for the year ended 315t December 2022 and show the
caleulation of the amount to be credited to the Profit & Loss Alc for the year.
Also show how the relevant figures would appear in balance sheet as on 31%
Dec. 2022, (15)

{(u) AB Ltd is a manufacturing company huving three production departments, A,
B and C-and two service departments X and Y. The overhead departmental
distribution summary is as follows ;

Departments
A H C X Y
Total overhead as per
Primary distribution 6300 7400 2,800 4500 2,000

A technienl assessment of the apportionment of expenses of service
departments Is as under

_g...__-ﬂ



k)

(ch

{a)

A B C X ¥
Service Depit. X 405, 30 20% - 10
Service Deptt. Y 30% 0% ot 20% =

Prepare a statement showing re-distribution of service department’s expenses
to production. (5)

‘Greater the stock turnover more efficient is the stock policy.” Elaborate
with example. Also distinguish between slow, non-moving and obsolete
materials. (5)

Deseribe the procedure for purchase of material.
OR

The cost of a machine is T3, 30,000 and it has an estimated scrap value of
T30,000 at the end of its estimated effective life is 10 years. Annually the
machine works on all the 365 days at a rate of 8 hours overy day of which
120 hours p.u. are consumed by maintenance. About 1/7th of the total
productive time 15 consumed in setting up the machines.

Various costs relating 1o the working of the machine are as follows :

(1) Two units of power are consumed every hour at the rstc of T7 per
unit.

(it} Monthly ¢cleaning and oiling f::;tp'm?-:s for the machine 45 T1,400.
{iit) Annual maintenance of machine amounts to ¥1 -1-.0&5._

{iv) Three operators combined together control operation of ten identical
machines and cach of them gets o' monthly salary of T10,500

(v} Annual departmental overheads apportioned to the machines” arc -

fixed: T27 400 variahle: T63,000)

P10,
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Compute machine hour rate in each of the following cases . 9

(1} Setting u;:hmeismnrdﬁd IE productive but power is not consumed

diitinig scifing tup time.

(i) Setting up time is not regarded as productive but power is consumed

during sctting up time.

(b) Explain cost, expense and loss with example,

(12}

(3

Shanker Lid. has promised o contract to run 4 tourist bus on route covering 30
km. He buys a bas for 720, 00,000, The effective life of the bus is 10 years with

a scrap value of T5,00,000,

The snnual charges for the bus insurance
Annual road tax
Monthly garage rent
Salary of driver
Salary of conduetor (two conductons are engaged in one bus)
Repair charges ]

(ffice expenses

Petrol and oil cost is T3 per km.

Normal capacity of passengers 50

760,000

T30, 000
T15.000
6,000 pm
16,000 pm each
210,000 pm

TRO0 pm

Bus occupies 70% of the capacity and is expected 1o run 3 round trips during

200 days in a month.

In nddition of above, driver and conductors are entitled to & commission of 5%
on takings. Caleulate total takings and passenger fare per km, allowing 15%

profit on takings,

{15)

_-A._-J
E % i e S
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OR v
The following data are available in respect of process | for March 2023 -

(i) Opéning stock of work «in progress: SO0 ynits

it a total cost of
T4.000,

(i} Degree of completion of opening work in pmgrr:ss_.
Materinls 1O,
Labaour 650%
Overheads 60%

{it) Input of materials at a total cost 36,800 for 9,200 units
(iv) Direct wages incurred 2 16,740
(v} Production overheads 4,370

{vi) Units serapped: 1,200 units. The state of completion of these units was:

Materials 100,
Labour B0V
Dwverheads L

(vit} Closing work-in-process; 900 units. The stage of completion of these units

WS |
Muterials L 100
Labour 0%

Owverheads T,

(viii) 7.900 units were completed and trunsferred 1o next process

() Normal loss is 8% of the total input (opening stock plus unil:i.pin in)

(x} Scrap value is 74 per umt

P10,
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Prepare :
a) Statement ufnqiuivujem production,
(b} Statement of ¢ost,
(¢) Statement of evaluntion using the FIFO method and

id) Process account. (15

5. (a) ABC Ltd. has furnished the following information from the financial books
for the year ended 31* March 2022.

Particulars Amount (¥} | Particulars Amount (T)
Opening stock (500 Sales (10250 units) | 28.70,000
I_ units at T140 each) T0.000 | C losing stock (250

Mumtenal consumed 10,400,000 | units 5t 3200 each) 50,000
Wages £,00,000 | Interest 1,000
Factory overhead 3,779,000 | Rent received 40,004
Admmistration 4,24 004
overhead 2
Selling expenses 2,20.000
Bad debts 16,000
Prefirminary 20,000
EXpenses
Net profit 192,000

29,61,000 20.61,000

The cost sheet shows the cost of material ot T104 per unit and the labour
cost at ¥60 per unit, The factory overheads are absorbed at 6(% of labour
cost and administration overhead at 20% of factory cost. Selling expenses
are charged at ¥24 per unit. The opening stock of finished goods 1s valued
at T180 per unit. You are required to prepare
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(i) A statement showing profit as per cost accounts for the vear ended

31" march 2022

(i} A statement showing the reconciliation of profit as disclosed in cost

accounts with the profit shown in financial accounts. (9}

(b} Explain the treatment of following items in cost accounts :
(1) Packing charges
(ii) Research and development cost
(iii) Rovalty and patent fees (6)
OR

{a) Wrte a note on:
{i} Methods of absorption of factory overheads,

{if) Actavity based costing approach (3=2=10)

(b} Pauss journal entries in the cogt books (integrated and non-integrated sysiem)

for the following transactions.

(i) Purchase of raw materials 25,00,000
{ii} Productive wages pid T3,52.000
{iit) Material 1ssued for repairs T45,000
{iv) Office expenses paid 72,000
(v) Stores issued T34.000

(3}
PTO
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(v) = wwt 72,725 Wiw a0 _

A, TF T 9 o 2000 w2 w e £, T & 17s w0 s 0 E A
amr=n it o9 & w0 A B9 IR ¥ 3w v o ued wiE e e S U
w2 (5)

(@) vew = 2022 % Fan weme e & Felw @ wafem el o g s A

Stock of raw material 85 on |* May 65,000
Stock of raw material as on 31* May T91.000
Direct labouor charges To4.500
Indirzet lnbour charges T56,400
Purchase of raw materials 245,000
Freight mward T15,600
Onher expenses on purchases T12.500
Freight outward 210,500
Advertising 228,000
Sale of scrap 1,500
Office rent and rates 54,000
Commission on issuc of shares T6,000
Goodwill written off TR.000
Transfer to general reserve 10,000
Other direct expenses 15,400
Advance income tax T17.500
Depreciation on
— Plant T22,850
- Office furniture 211,000
Stock of finished goods as on 1™ March Ton, 000
stock of finished goods as on 31% March 54,600
Manager”s salary T4R,000
(Wt o WG e S w9 2080 F s ¥ A e wer #)
wf 2022 % WA & fow v AR A SR iE (10}
o
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+ P W TI0,000
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W ¥ W T 14,50 000 o A WA = ag; =1 Wi s 3 200,
F B e T W # 3 R 2022 I HTF W G 120,000 A e 2y §
AR 1 I 16,000 W) A T A T R 3w il o v w9 es0.000
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W T YR

(1) T 2w 30 o, 2023 7% T v fEvar

(i) T =53 rao 000 &5 wfFReE o = =t v 3 sEy = T B O gy
T W = 112 000

(i) o1 e, 2022 % wra ¥ 3 el wprlt @ Fer 3 ae 2 W 1,00,000
P S 5 7,000 TR = fafawr & =)

(i) iﬂiﬂﬂ#wﬁﬂﬂfﬂ?%mﬁﬁﬁﬁmﬂﬁﬁunﬁl
(v) ﬁ:m%ﬁaﬁﬁﬁmﬂﬁmﬁﬁi
() mhmmm‘ru‘:ﬁwmaﬂ%ﬂﬁ?ﬂamu v Fm

mﬁﬁzmzuﬁmyqﬁﬂﬁwﬂwmﬂmﬂ 3w # Fow amy ol miy
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A A W B e 2 (15)
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e
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W o & '
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A B C X Y
# fawm X 0% 0% 200 . 10%
¥ fasmn v 30% 30% 20% 20%
¥ fvn % w5 e ¥ i T A o frem daw i
(s)

() weter g e sfirn Frm i di i e #1° e = A
3 ey Ff) A, g S aweiEe AR F A W s R (5]

(m) =i % i & o ufm = i Fii (s)
o

o Wi R AT 3,30 000 B S T sept wwe e 0 = F A A 30,000
w1 sepTE TR e R @i ey & Wi R ses R F wie 8 w2 St @ W
w7, ol A 120 W2 Wi o e & w= A @ #) W w i e §
TR WG W SN /7 Wi B R

i & g A e fafes e oE R
(i) o v g 9w & ofr v @ o Res o e e
(i) e o werd o A A wiEE = 0,400 B
(i) =t =51 s e 114,000 B
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(i) A sates e o w wii o e o Fafm e # s o @ v
w 110,500 F1 wiEE d59 fmw 2

(v} witdl w il aiffs fawi afters # faw 127 400 9iEEE 263,000

fpfafm & @ was wwa o wie w1 = =it e S

() Wi A EA R IS A S 7 A e A awg e e
wE AR A T

() ity AR F g e T WA A AR s we ® i
Calrcorn® ol (12)

(@) =ma, @m i wi w e afER wwmEn {3)

e fafide & 30 e & w2 W 2 W oo W 3w W ow A e o

< $20,00,000 ¥ U w6 Wit #1 5 00,000 W WA qF4 W WG TH ] WWE A 0 0

#

wa dw F B wfE 1w 140,000

it i Fae 730,000

wifter e R 715,000

TR o A 76,000 Wi e
Fagel 9 A9 (I wrecr R ww § W gw ¥) 6,000 W AW
WA T n0,000 WE wE
wrEE T w800 W e
T s A A A : 5 wia faEm #)
it ot A S 50

wH A T 70", T o 2 s o 9fR A 20 A S e 5 Re Se o e
1
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{viit) 7,900 YT 90 A W I A WEW § AEERE 9 0 v
(ix) TS THHF W T T 8% ¢ (YEa =T wm gice = few B
(x) wha &g 74 wfy afe #

aw i -

() wwe e faam,

(%) = = faam,

(®) i 52f = awE wew e W fEwm

(=) whEm w=mm {15)

5 () 31 96 2022 W g o T EER an @ Beldes aewd s o

Ll
fagrm aftr (1) |fawmwm o (2)
ArafHn =i (500 gFE @t (10,250 TEFTEm) 28,70,000
Y40 W W) 70,000
AR W E 10,40,000 [# = wTE = 7 w2
(250 TF 2200 WIS V)| 60,000

e &,00,000 =TS 1,000
Haeit SR 3,79,000 | R W B 40,000
W SR 4,24 000
fat wr = 2,20,000
Feten = 16,000
Wi = 20,000
e 7H 1,92 000

29,61,000 29,61,000

PT.O.
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2. wult e Hifew

A EE WA IR s G R o s A, S
T e s v & R i

1. (a) What are the various Project Management stages?
How are they related to each other? (5+3)

(b} Outline the role and scope of a project manager.
What are the unique skills that the project mansger
must possess? {3+4)

OR

(a) Monitoring is inevitable for the success of any
project’ Comment, What are the steps of project
manitoring? (3435)

{b} Explain the relationship between project manager
and- line manager? (7

I, ()} What are the various sources of finanes available
for the projects in India? Describe bricfly the
various means of financing of project. (3+5)

(b) What do you mean by demand forecasting?
Biscuss the various levels of demand forecasting.
(245]

e —

"4083 3
OR

{0} A firm is considering an (nvestment propasal worth
Rs, K0,000, The CFATs {cash flows after tax) are

expecied to be as follows:

Year CFATs (Rs.)
1 : 15,000
2 22,000
3 27,000
] 29,000
5 21,000

The rate of discount is 10%. Using Net Present
Value (NPV) find out whether the project is
worthwhile or net. {1
(b} What is the purpose of & project budget? Whal

should be included in a project budget? (2+5)

3. (a) What is business growth? Describe the various
husiness expansion technigues that a compaty may

adopt to attain long-term commercial Fuccess.
(246}

(b} Explain the concept of SCBAT How does privite
cost-henefit analysis differ from Social Cost

Benefit Analysis? (3+4)

P.T:Q.
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(b)

(a)

2

o
“No investment is risk-free”. Comment. How systematic risk does affect

individual stock returns? (5)

Six years ago, Mr. K purchased & share of J Ltd. During the last six years,
the share exhibited following return pattern :

Total Return (%)

15
20
12

-10
9

I:h"q.l'l-h'l-l-il'«-'l"‘E

14

{i) Find Average Return of this share using Geometric Mean.

(i) If K’s income i-f: taxable at the rate of 30%, find out his post tax
returm.

(iii} If there is another security offering a tax free return of 8%, find out tax
equivalent return. (10}

OR

“Investment is well grounded and carefully planneéd speculation”, Explain the *
difference between investment and speculation in the light of the above

stutement. (3]

(b) Consider an investor who purchased i share of XYZ Lid. for T50. The price

per share and dividend paid during last 5 years is given below :
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Year | Dividend per share | Closing share price
(in?) (in )
1 25 56
2 4.5 60
3 5.0 65
4 25 58
5 4.0 51

From the above information calculate the following :

(1) Average current yield on the share,
(it} Total as well as average rate of return and 1ts vanance

(iii} Calculate the real average rate of return if the rate of inflation is
10%. (10}

2. (a) Examine the relationship between time to maturity and bond valuation with
the help of a diagram.

(b} A TI1000 face value bond having coupon rate of 12% p.a. and 7 years to
maturity is currently selling at ¥875. Its yield to maturity is 15%. Calculate
the duration of the bond? (10

OR

{a) What do you mean by credit rating? How is credit rating relevant for
mvestors? (5)

{b) A 10% bond having a face value of ¥5000 with a maturity period of 5 vears
is being traded at ¥4350. At present the capital gain from the sale of the
bond is subject to 10% tax while the interest is subject to 30% rate of
income tax. Find the post-tax Yield to Maturity given that the band is held
till maturity and redeemed at [5% premium, (10

P.IO.
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3. ()
(b}
{a)
{b)

4. (n)

4

Explain the different forms of Market Efficiency according to Efficient Market
Hypothesis. What are the implications of Efficient Market Hypothesis for

mvestment decisions? (5]

The company will not be ahle 1o pay any dividend for the first 4 vears. After
this gap, it will pay a dividend of 25.00 in the fifth year and is expected to
witness the growth rate of 12% for the next 2 years and continuous growth
of 10% thereafter. Calculate the intrinsic value of the share when required

rate of return il I LT {10}

OR

Write a short note on any twae - (5}

(i) Bond Indenture
(1) Support and Resistance Level

(i) Rolling Settlement

ABC Ltd. has just paid a dividend of 75 ;.'Ic:r.&h:u‘t. In view of the rapid
growth of the company, the dividend is expected to grow at 20% p.a. for
the nex! two years. Subsequently, the dividends are expecled to grow at
only 9% p.a. infinitely. With the expected rate of return at 18% p.a. find out
the price an investor should be ready to pay for the share. Also calculate

share price afier 3 vears, {10y

What are the advantages of investing in mutual funds especially for small

investors?- (5}
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{b) The Returm on two Securitics and the market return under different conditions

of the economy are given below ! (10}
Situation | Probability |  Return on Returnon | Market
Security A Security B Retumn
(%a) (%) (%a)
Recession 02 10 6 10
Average 0.4 12 15 e
S 03 21 27 2
Average
Boom 0.1 7 30 29
Calculate

{i) Beta of Security A, B and Market.
(i} Calculate SML returns of security A & B.

{iii} Also state which of the above two securities are underpriced according
to SML?

OR
{a) Elaborate the development of financial derivatives market in India? {3)

(b} An investor can borrow and lend funds at risk-free rate of 10% p.a. The

market 10 index offers 15% rate of return and risk in terms of standard

deviation is 8%.

{1} In what propoertion the to